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; Grey line: exponential fit Peak flux: 4.133+/- 0.529 c/s/cm? ;
= Black line: power law + gauss fit Fluence : 28.29+/- 4.02 c/cm? 4
g Dashed line: power law Duration 14.744/- 283 s g
; Best fit model: 1. E
= | Best fluence model: 1. E
= ‘ Best duration model: 1. =
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; Exponential fit é
=  Expon.time: 4.24+/- 0.66 s (chi’red= 0.80) J
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; Power law fit é
= Power law index: -1.787+/- 0.240 (chi’-red= 0.82) 3
= b | b ] il St + e
= %ﬂwﬂ Hwﬁ# Hﬁﬂﬂ%ﬁ HMMWWH MHW m ﬁﬁw ++++HH#+*++*++%++ﬂ%{*H++*ﬂ**++*+++*+H+*%uﬁ%ﬁﬁ%ﬁwﬁ ﬁﬁﬁ &H%H#HHHWH+*Hﬁmﬂww%w+ *++H**+ﬁ+Hﬂﬁwwww Hﬁﬁ%ﬂﬁ{%
i I T T T T T T T T T I T T T T T T T T T I T i
— Power law fit plus Gaussian (st.dev.= 7.13+/- 1.42 s, fracgs= 1.05+/- 0.93) =
- Power law index: -3.428+/- 2.855 (chi*-red= 0.81) 3
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